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Let f(z) = (z + 3)°
Find a domain on which f is one-to-one and non-decreasing.

Find the inverse of f restricted to this domain.
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Let f(z) = T
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Find the inverse function of f(z) = 14 + /z.
F @) = | |
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5z — 4
3z +1

Given: f(x) =

Find the inverse function, f ~(z).
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If flx)=z+9andg(z) =z —9,
@ flg(=) =
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(c) Thus g(z) is called an function of f(z)
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(a) Find the inverse function of f(z) = 6z — 5.
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(b) The graphs of f and f_1 are symmetric with respect to the line defined by y = :]
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Assume that the function f is a one-to-one function.

(@) If £(3) = 5, find £ ~1(5).

Your answer is ‘ ’

b)If f71(—3) = —2, find f( — 2).

Your answer is ‘ ’
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Use the table below to fill in the missing values.

z | f(=)
0 2
1 3
2 8
3 1
4 0
5 6
6 5
7 4
8 7
9 9
() =

if f(x) =8, thenz =

F7le) =

if f~1(z) =2, thenz =
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Use the graph below to fill in the missing values.

5+

N

W,

~





image4.png
@ Question 4 v < >

Below is the table for the function f(z).
z |3|5|7]12]16
yl2]4(8]11]15

Choose the one table below which is the inverse function f~ 1(a:)
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Let f(z) =9 — =z

fY@) = |
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Let f(z) = 6z + 1

F7l@) = |





